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Sectlon A o
: Ansze'er ralhl the tjueéfions
| R ' Each questwn carries 1 mark
Deﬁne Operatlons Research e
Explam Network Analyms |
Wnte any two apphcatlons of LPP
'-Deﬁne Transportatmn Problem

Deﬁne Sequencmg problem

: Descrlbe an event in Network Scheduhng
 Define 0pt1rmst1c Tlme Estlmat;es |
j.Explam Objectlve Functmn T

: Deﬁne_PERT.= :

Explain Duality. =

Section B -
- Answer all the questions
Each questwn carries 2 marks

' Explam Ass1gnment Problem.

Cite any fwo limitations of OR.’
Explain basic assumptions of LPP. |

Define the terms : (a) Basic feasible solution ; and (b) Linear constraints,

S (A0x 1=

. Turn over,

10 marks)
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16.
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- 18,

19,
. 20.

21,

22

. Explainl'Vogells Approximation Meth_o_d.‘
'Deﬁoe' Simplex Met‘hod’ | '
Deﬁne Art1ﬁc1al Varlable Explam the use of artrﬁcml varlable

Deﬁne slack tlme and total float i in the context of network model

Sectmn C

Answer any §ix questwns
Each questwn carrzes 4 marks

Explam the procedure of problems With jo_bs_a_nd..two mach_mes-. '
_ Descr1be travellmg Salesman Problem |

'Fo_rmulate dual of the followmg LPP :

Maximize Z = 4%; + 2%,

subj_ecl: to — %y — g <-3 |
--x1+x2> 2
xl,xz 0

A malr'keting manager wishes to allocate his ennual advertising budget of Rs. 20,000 in two media
vehlcles A and B. The unit cost of a message in media A-is Rs. 1, 000 and that of B 1s Rs. 1,500." -

-C 62635

" (8x2=16 marks)

Medla A is a monthly magazme and not more than one insertion is desu'ed in one issue. At least’

five messages should appear 1n the media B. The expected effectwe audience for umt message in

' medla A is'40,000 and for. med1a Bis 55 000 Develop a mathematlcal model,

93,

24.

25.

Explam the procedure of Slmplex Method

Explaln some of the areas ‘where Transportatlon Techmques are employed
_,Draw the netv'vork diagram to the followin_g activitie‘s C

Activity G,))  : _ 12 - 1-8 1-4 2-5 3-5

Time duration : - 2 - 47 .3 S




26 Explam N orth West Corner Rule,

B 27 How w1ll you solve maxmnzatlon problems usmg a551gnn1ent techmques ?

' Anéwer any three questions.
Each question carrzes 10 marks

~-28. Solve the followzng problem usmg dual Slmplex Method

" Minimize Z = 4x; + 2,

. Subjeot to: % + 2x2_. 220 -

.4xi+_35622_60_ e

K xl,x2>0

' 29 Use B1g M method to solve the LPP

_M1n1m1ze Z= 8x; +8xy

Subjeot to %y + x5 = 200'

%y 2 60

X1, Xg =0.

: : 30. Solv_e'fhe Assi'gﬁmenl: problein :

1 .

A (32
. B 27
C |28
D {10

2.

26

24
22
10

3

35

26
25
. 16

4
38
32

34

16
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: (6x 4=94 marks)

Turn over




31

-+ and (c) Floats.-o-f all the actw1t1es Also obtain : (1) Crltlcal actl_vltles ; and (b) Pro;ect duratlon

- 32, .

' Processmg tlmes in hours are given in the table below :

4 . Ce6235

A small malntenance pro,]ect consxsts of the followmg 10 _]ObS Draw network dlagram (arrow_ -

diagram). Calculate (a) Tg and TL values of all events (b) EST LST EFT LFT of all actnrltles ;

'A'ct‘ivity:’ 12232435364647586878

Duratlon S ‘\_5'6"‘: "-‘1'"01: 8 2 127 '4_ 15 14“'] g

/’

We have ﬁve JObS each of whlch must go through the two machmes A and B in the order A B.

Jeb - i1 TzooTsl 4 5
Thﬁe oh'Mach'ine A o 5 e 1 9 o '3‘!‘ 10
Tlme on MachmeB ‘_ . _: 2 _' 6_ }7 8 -4"

Determme a sequence for the ﬁve jobs’ that w111 mmumze the elapsed tlme Also find :

(a) Totai muumum elapsed tlme and (h) Idle tune for machme (1) A and (11) B

(3 x 10 30 marks)'




